Learning Target: | can graph systems of linear
inequalities to find a feasible region.
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1.3B Graphing Systems of Linear Inequalities
to Find a Feasible Region

Section

1.3B

(2,7)

(\, )
(2,2))

1) Genevaispackaging steaks to sell wholesale to local stores. Each package will
containa combination of round steaks and T-bone steaks. The package will hold no

more than 12 steaks. The round steaks cost $4 each and the T-bone steaks cost $10
each. The total price of each package mustbe at least $80.

a) A possible combination of steaks that will fit in the package is 2 round steaks and
7 T-bone steaks because there can be at most 12 steaks in a package and

2+7=12.

Give three more combinations of steaks that will fit in the package. Calculate the
total ¢t for each combination to verify the accuracy. Record your thinking.
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b) Write an inequality showing the number o 11Lnd stealés (R) and the numberof T-bone steaks Eg ;totals
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will total at least $80. 0
Calculate the total cost for each combination to

verify the accwcy. Record your thinking. 8 ’ o
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e) Using the pattern you developedin (d) above, write an inequality showing the total cost of the round steaks

9‘\ (R) and the T-bone st;a]i:so(T) in each package is at least $80.‘ LI E. 4 *,OTZ sgo

f) Usex- and y-intercepts to graph the inequality from part ) on the same grid above and shade the region
containing the solutions.

g) Name two coordinate pairs that are solutions to both inequalities.

Calculate the total cost for each combination to verify the accuracy. Record your thinking.
AND the total amount of steaks in the package!
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h) The over-lappingshaded region for a system of inequalities is called the feasible region. What does the
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